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result = []

print ("-%Ei% :{}".format (result))
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print ("%E%: (1" .format (total))
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print (“%ES?—. :{}" .format (result))
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port turtle

dief new inst (command, param):
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execute (inst list):
t = turtle.Pen()

=
1 {

¢ = inst["command"]
p = inst["param"]

iNst = 1.5p1lit{":™)

inst_list.append(new_inst(c, p))

execute (inst_list)
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print ("§3Fk:{}".format (result))
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def new c1rcle{x Yr r}
return {"x":x, "y :¥r "r:ir)
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circle list = [new circle(0,0,5),new circle(10,10,3),
new_circle(0,5,2) ,new_circle(-10,-0, 6)]

print ("R : {1".format (area_total))
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def divideByArea(circle list, v):
small [1]
[]

large

return [small, large]

new _circle(0,5,2),new_circle(-10,-0,

criteria = 4%4%*3 14
result = diyi@eByﬂrea(circle_list, criteria)
print ("EIENEELLU/NE v (1. format (result[0]))

print ("ﬁ*ﬁbigﬁjﬂifﬁé :{}".format (result[1l]))

circle list = [new _circle(0,0,5),new _circle(10,10,3),

6) ]
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new circle(x, y, r):#H17 7217 b Z1ERkT 2.
is_intersect(cl, c2):#Mci,Ac2HhEL>TLon& IMEHIFET 5.,
area(c) : $McHmigZKthH 5,

$LLE3D(I 14 TIERGE

redraw(c) : #fc?x (CNETOAEIENAT) BaEicigaT 4.
print_score (score) :#m#lscoreZFnLIEAHT,
print gameovaer (score) :#V—LETIHOAvT—JVEFTRT 2, oHOFTI 2.
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def detect_collision(new_circle, circles):

(1)

r = 20 #—2BOAO¥RZE208T 5,
c = 10 #¥EOIENE

circles = []
score = 0
while True:

X = int (input ("XEHE>"))
y = int (input ("yEE>"))

New circle = new_circle(x, y, r)
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